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'Theorem’iﬂ TnanglelnequahtyTheorem | J

The sum of the lengths of any two sides of a triangle R
must be greater than the length of the third side. Q
Examples PQ+ QR > PR
JR+ PR> PQ
PR+ PQ > QR P
- 3T Identify Possible Triangles Given Side Lengths &5 T lH

| Is it possible to form a triangle with the given side hang,lhs"‘ If not, explain why nol,

1A, 15 yd, 16 yd, 30 yd 1B. 2 ft, 8 ft, 11 ft

the  om ot fhee sharﬁ'f 2 cides riust bfﬁ"t"micf f’/fa:n
The /avzﬁe;:’f side 048 —/0'74'/’/) o o
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2. Which of the following could not be the value of n? 13cm

F 7 H 13

G 10 pem
the 374 <id 5; ter 14
+heir o) %i&f:z l:m e';fa 'anm i’l-;

12-9=4 1249 =22, 4<n<2D  must be 725 f%an 22 ianmﬂl'

3. If the measures of two sides of a triangle are 9 yards and 17 yards, then the measure of the thlrd side

must be greater than . 7%CN“ ,%re/l.ce
179 g g Hhan &

4. Find the range for the measure of the third side of a triangle if two sides measure 9 and 19.

gr‘t’mler‘ ‘H/var; ﬂfg)r dif-,ccre,wce‘ 4 /?— 7 =10,
“less Tham their Cum 9%/9 =79 \

1O < 2 side < 28



5. If the measures of two sides of a triangle are 12 yards and 8 yards, what is the least possible measure

of the third side if the measure is an integer? MM§7L ke 9{(2({'6{' ﬂntfl
d%r@mcc 10 -8 = 171 b«‘}'
@'t be (fiua/ /o é/
<o least poscible. s 5.
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3. Write a two-column proof.
Given: GL = LK
Prove: |[H + GH > JK G | L\\/J

K

Staterients reasons
/. Gl =) K /. (iven
2. H+EH 6T |2 A Lnegual. Thm.
3. LT=LLHLT |3 Seg. Add. Post

Y I +GH>EHHT Y Subst
5. JH+ GH>LKHLT |5, Subet.

G LKHT>IK |6, A Duagual. The
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